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} (a) Use the Neyman-Pearson lemma to find the most powerful test of the ‘null hyp othesm i
o :p=1/3 against the alternative hypothesis H; : p=1/4 at level o = 16/81.

1. Let X have a Binominal distribution with n = 4 and p unknown. b / :

NED (DA Cm (4T
ORW()M,ZWMM oR WXM,&HWWA
l]b@MPNWHa X*fc;)mClMth—,y [Xu.c]“"“‘
- By bpeti P!,g, [¥=¢)= (‘7’)4 (‘/@Mm“?w &= 16/g] Ltz ¢

HWX o

et s (j)(ﬁs“)x S _g._ ) [('/3)/(%)] M

' 'L( ) Find the power. of the test of part (a.) against the alternative p = 1/4.
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5 “2. Let Xi, X, ..., X, be a random sample from an exponential distribution with density - -
furiction A '
flz) =
" . with unknown pa.rameter g > 0. Find the form of the level-o Likelihood Ratio Test of

the null hypothesis Hy : 8 = 1 against the composite alternative hypothesis H; ﬁ g 1L
(Simplify the form of the test statistic as much as possible. )
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Les/f if0<z< 0o
0 otherwise.
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